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TEST -3 EXAMINATION- 2016
B.Tech I Semester (BI/BT)

COURSE CODE; 10B11MA212 MAX, MARKS: 35
COURSE NAME: Basic Mathematics I1
COURSE CREDITS: 04 MAX, TIME: 2 hours

guest 10A.

QLETV =

xt+yj+zk
JaZ+yit
Q2. Solve the differential equation (D? — 4D + 4)y = e™**

, Find Curl 7

Q3. (a) If 0.333 is the approximate value of 2 ,flnd absolute, relativgdnd per ghtage error.  [2]

VI+sinx = 0,correct

(b) Using bisection method, find the real root of the equatl L 39

up to 2 decimal places. Root lies in the interv zj@g {5]
Q4. Given that 1 >
X 4.0 42 44 48 50 52
log x 1.3863 1.4351 1836 % 7, 1.5686 1.6094 1.6487
Evaluate f; ?log x dx using (a)Simpst: ' wJigile (b) Simpson’s 3/8 rule [5]
Q5. Find f (175) from the follow SSing appropriate Newton’s formula. [51

N, :

X Lol | 160 170 180
f(x) %854 6302 - 8.076 10.225
Qé6.Calculate gy&%@mde from the following table [5]
Class & 9%s- ]97.5- |1025- [107.5- [1125- [117.5- | 1225 127.5-
Intervgl@g) 97.5 102.5 107.5 112.5 117.5 122.5 127.5 132.5
Freen@yéf{.) % 5 12 17 14 6 5 1
Q7. C culate the standard deviation from the following data [3]
Class 0-10 10-20 20-30 30-40 40-50 50-60 60-70
Interval(x)
Frequency(f} | 5 7 14 12 9 6 2
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